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Question Type : MCQ
Question ID : 630680322238
Option 11D : 6306801253603
Option 2 ID : 6306801253604
Option 31D : 6306801253601
Option 4 1D : 6306801253602
Status : Answered
Chosen Option: 1
Marks : 0
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Question Type : MCQ
Question ID : 630680322243
Option 11D : 6306801253624
Option 2 ID : 6306801253623
Option 31D : 6306801253621
Option 4 1D : 6306801253622
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680322234
Option 1 1D : 6306801253585
Option 2 ID : 6306801253587
Option 3 1D : 6306801253586
Option 4 1D : 6306801253588
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680322246
Option 11D : 6306801253635
Option 2 ID : 6306801253633
Option 31D : 6306801253634
Option 4 1D : 6306801253636
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680322249
6306801253647
6306801253648
6306801253645
6306801253646
Answered

4

2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680322251
6306801253655
6306801253654
6306801253656
6306801253653
Answered

4

0
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Question Type : MCQ
Question ID : 630680322252
Option 11D : 6306801253659
Option 2 ID : 6306801253660
Option 3 1D : 6306801253658
Option 4 1D : 6306801253657
Status : Answered
Chosen Option : 2
Marks : 2
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Question Type : MCQ
Question ID : 630680322241
Option 11D : 6306801253616
Option 2 1D : 6306801253614
Option 3 1D : 6306801253615
Option 4 1D : 6306801253613
Status : Answered
Chosen Option: 3
Marks : 0




®® IR ATeaTET WATE FHUET R

Ans X1 a:'-_;.pl

« 2 HegAreTT
X 3 dcg¥
X 4+ g@ea
Question Type : MCQ
Question ID : 630680322244
Option 1 1D : 6306801253627
Option 2 ID : 6306801253626
Option 31D : 6306801253628
Option 4 ID : 6306801253625
Status : Answered
Chosen Option: 3
Marks : 0
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Question Type : MCQ
Question ID : 630680322237
Option 1 1D : 6306801253597
Option 2 ID : 6306801253599
Option 3 1D : 6306801253598
Option 4 1D : 6306801253600
Status : Answered
Chosen Option: 1
Marks : 0
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Question Type : MCQ
Question ID : 630680322242
Option 11D : 6306801253618
Option 2 ID : 6306801253619
Option 3 1D : 6306801253617
Option 4 ID : 6306801253620
Status : Answered
Chosen Option: 4
Marks : 2
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Question Type : MCQ
Question ID : 630680322254
Option 11D : 6306801253667
Option 2 ID : 6306801253668
Option 31D : 6306801253665
Option 4 1D : 6306801253666
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type :
Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option
Marks

MCQ
630680322245

: 6306801253632
: 6306801253631
: 6306801253629
: 6306801253630
: Answered
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Question Type :
: 630680322233

: 6306801253584
: 6306801253582
: 6306801253581
: 6306801253583
: Answered

03
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Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option
Marks

MCQ
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680322248
6306801253643
6306801253644
6306801253642
6306801253641
Answered

2

2

A1 arurdat ATY T AFFERET DT AR FEAAT AT AT
X Al O S TS graEEeT Siee SRR

o 2.

FEIagaTerdiel Hor alooier HFRUNTE FIAaTsal JaTd.
X 5. FIAETSE AeAHD TIGUS 39T SHT Fe.
X 4 qireeT SAaET 3901 Seue G graursay e

Question ID
Option 1 ID

Option 3 ID
Option 4 ID

Question Type :
: 630680322250
: 6306801253650
Option 21D :
: 6306801253652
: 6306801253651
Status :
Chosen Option :
Marks :

MCQ

6306801253649

Answered
2
2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680322240
6306801253611
6306801253612
6306801253609
6306801253610
Answered

1

2
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Question Type :

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

McQ
630680322255
6306801253671
6306801253672
6306801253669
6306801253670
Answered

1

2
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Question Type : MCQ
Question ID : 630680322236
Option 11D : 6306801253594
Option 2 ID : 6306801253593
Option 3 ID : 6306801253595
Option 4 ID : 6306801253596
Status : Answered
Chosen Option : 4
Marks : 0
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Question Type : MCQ
Question ID : 630680322247
Option 11D : 6306801253638
Option 2 ID : 6306801253640
Option 31D : 6306801253639
Option 4 ID : 6306801253637
Status : Answered
Chosen Option : 4
Marks : 0
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Question Type : MCQ
Question ID : 630680322239
Option 1 ID : 6306801253606
Option 2 ID : 6306801253605
Option 3 ID : 6306801253607
Option 4 ID : 6306801253608
Status : Answered
Chosen Option : 4
Marks : 2
Q.22
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Question Type : MCQ
Question ID : 630680322232
Option 1 ID : 6306801253580
Option 2 ID : 6306801253577
Option 3 ID : 6306801253578
Option 4 ID : 6306801253579
Status : Answered
Chosen Option: 3
Marks : 2
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Marks :

Status

MCQ
630680322253
6306801253664
6306801253663
6306801253662
6306801253661
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680322235
6306801253592
6306801253591
6306801253590
6306801253589
Answered

2

2
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Question Type : MCQ
Question ID : 630680322256
Option 1 ID : 6306801253674
Option 2 ID : 6306801253676
Option 3 ID : 6306801253673
Option 4 ID : 6306801253675
Status : Answered
Chosen Option: 3
Marks : 0
Section : English Language
Q@1 Choose the most appropriate synonym of the given word.
Heedless
Ans X 1. Safe
X 2. Vigilant
« 3. Negligent
X 4 Wary
Question Type : MCQ
Question ID : 630680311685
Option 1 ID : 6306801212828
Option 2 ID : 6306801212826
Option 3 ID : 6306801212827
Option 4 ID : 6306801212825
Status : Answered
Chosen Option: 2
Marks : 0




Q2 Choose the most appropriate synonym of the given word.

Infamous

Ans 1. Immoral
< 2. Noble
X 3. Seemly

X 4. Ethical

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680311686
6306801212830
6306801212829
6306801212832
6306801212831
Answered

1

2

Q3 Select the most appropriate option for the given blank.

They did buy
Ans . #1. afew

X 2. any

X 3. little

#< 4 much

gold cups for about half the price of the metal.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680311689
6306801212842
6306801212843
6306801212841
6306801212844
Answered

4

0




Q4 Select the most appropriate option for the given blank.

You won'’t tell everyone about this crime, ?

Ans X 1. will not you

X 2. are you
« 3. will you
X 4. should you

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680311668
6306801212757
6306801212759
6306801212760
6306801212758
Answered

3

2

Q.5 Find the part of the sentence that has a grammatical error.

In the elevated stage stands a barker dressed in clown style, red pin-stripe pants.

Ans 1. In the elevated stage

X 2. dressed in
X 3. stands a barker

X 4. clown style, red pin-stripe pants

Question Type :
: 630680311676

: 6306801212789
: 6306801212791
Option 31D :

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

McQ

6306801212790

: 6306801212792

: Answered

Chosen Option :
Marks :

3
0




Q6 Find the part of the sentence that has a grammatical error.

Yesterday afternoon we have been steaming over a summer sea.

Ans X 1. summer sea
X 2. Yesterday afternoon we
«" 3. have been steaming
X 4. over a
Question Type : MCQ
Question ID : 630680311669
Option 11D : 6306801212764
Option 2 ID : 6306801212761
Option 3 ID : 6306801212762
Option 4 D : 6306801212763
Status : Answered
Chosen Option: 3
Marks : 2
Q7 Select the correct passive form of the given sentence.
Do you like this vellow stone?
Ans _#1. Is this yellow stone liked by you?
X 2. Was this yellow stone liked by you?
X 3. Is this yellow stone like by you?
X 4. Has this vellow stone liked by you?
Question Type : MCQ
Question ID : 630680311673
Option 11D : 6306801212777
Option 2 ID : 6306801212779
Option 3 ID : 6306801212778
Option 4 D : 6306801212780
Status : Answered
Chosen Option : 2
Marks : 0




Q8  Choose the most appropriate antonym of the given word.

Invigorate

Ans  # 1. Debilitate
X 2. Animate
X 3. Provoke
< 4. Embolden

Question Type : MCQ
Question ID : 630680311687
Option 11D : 6306801212836
Option 2 ID : 6306801212833
Option 31D : 6306801212834
Option 4 ID : 6306801212835
Status : Answered
Chosen Option: 3
Marks : 0

Q9 Select the most appropriate option for the given blank.

Come with us and see what these fellows are made
Ans X 1. upon. from
X 2. across, off
X 3. on, of

«" 4. along, of

Question Type : MCQ
Question ID : 630680311675
Option 11D : 6306801212787
Option 2 ID : 6306801212785
Option 31D : 6306801212788
Option 4 1D : 6306801212786
Status : Answered
Chosen Option: 3
Marks : 0




Q.10 select the option that uses the correct punctuation marks for the given sentence.

The municipal government is funding a education system.
Ans X 1. community, based
«" 2. community-based
X 3. community based,

X 4. community:based

Question Type : MCQ
Question ID : 630680311666
Option 11D : 6306801212751
Option 2 ID : 6306801212750
Option 31D : 6306801212749
Option 4 1D : 6306801212752
Status : Answered
Chosen Option : 2
Marks : 2

Q@11 1dentify the most appropriate meaning of the given idiom/phrase.

Long in the tooth

Ans 1. To be old
X 2. To be very tall

X 3. To trust blindly

# 4. To be wise

Question Type : MCQ
Question ID : 630680311682
Option 11D : 6306801212813
Option 2 1D : 6306801212815
Option 31D : 6306801212814
Option 4 1D : 6306801212816
Status : Not Answered
Chosen Option : --
Marks : 0




Q12 gelect the most appropriate option for the given blank.

Music continues playing until the audience exits theatre.
Ans # 1. the
X 2. No article
X3 a
X 4 an
Question Type : MCQ
Question ID : 630680311678
Option 1 ID : 6306801212800
Option 2 ID : 6306801212797
Option 3 ID : 6306801212798
Option 4 ID : 6306801212799
Status : Answered
Chosen Option : 1
Marks : 2
Q.13  Find the part of the sentence that has a grammatical error.
The honour of France was been foully stained, and there was no one to wipe away the shame.
Ans % 1. foully stained, and there
X 2. wipe away the shame
+" 3. The honour of France was been
X 4. was no one to
Question Type : MCQ
Question ID : 630680311670
Option 11D : 6306801212766
Option 2 ID : 6306801212768
Option 31D : 6306801212765
Option 4 ID : 6306801212767
Status : Answered
Chosen Option: 3
Marks : 2




Q14 Select the most appropriate option for the given blank.

Lucius was ready to do as he was told.

Ans X' 1. 50
«" 2. enough
& 3. too
X 4. some
Question Type : MCQ
Question ID : 630680311688
Option 1 ID : 6306801212840
Option 2 ID : 6306801212837
Option 3 1D : 6306801212838
Option 4 ID : 6306801212839
Status : Answered
Chosen Option: 2
Marks : 2
Q15 gelect the INCORRECTLY spelt word.
Ans X 1. Vaccinate
X 2. Affordable
& 3. Apetite
X 4 Rescue
Question Type : MCQ
Question ID : 630680311680
Option 11D : 6306801212805
Option 2 ID : 6306801212807
Option 3 ID : 6306801212806
Option 4 ID : 6306801212808
Status : Answered
Chosen Option : 4
Marks : 0




Q16 Select the most appropriate option for the given blank.

He himself in a large plainly furnished tent.
Ans X 1. find
«" 2. found
X 3. founded
X 4. finds
Question Type : MCQ
Question ID : 630680311674
Option 11D : 6306801212782
Option 2 1D : 6306801212781
Option 31D : 6306801212783
Option 4 ID : 6306801212784
Status : Answered
Chosen Option : 2
Marks : 2
Q17 Identify the most appropriate meaning of the given idiom/phrase.
Till the cows come home
Ans X 1. For certain
«" 2. For a very long time
X 3. Not to be taken seriously
X 4. To be turned away
Question Type : MCQ
Question ID : 630680311684
Option 11D : 6306801212824
Option 2 ID : 6306801212821
Option 3 ID : 6306801212822
Option 4 ID : 6306801212823
Status : Answered
Chosen Option : 2

Marks :

2




Q18 Find the part of the sentence that has a grammatical error.

For three days, Lina laid on her bed almost without giving a sign of life.

Ans  # 1. laid on her bed
X 2. giving a sign of life
X 3. almost without
X 4. For three days, Lina
Question Type : MCQ
Question ID : 630680311677
Option 1 ID : 6306801212794
Option 2 ID : 6306801212796
Option 31D : 6306801212795
Option 4 1D : 6306801212793
Status : Answered
Chosen Option: 3
Marks : 0
Q19 Tdentify the most appropriate meaning of the given idiom/phrase.
Put a sock in it
Ans

«" 1. To tell someone to stop talking

X 2. To make someone extremely angry

/< 3. To beat someone

X 4. To lock someone in a room

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

:0

Marks

MCQ
630680311683
6306801212818
6306801212819
6306801212820
6306801212817
Answered

2




Q20 gselect the correct passive form of the given sentence.

Monika squandered all her money.

Ans % 1. All her money is being squandered by Monika.
«" 2. All her money was squandered by Monika.
X 3. All her money was being squandered by Monika.
X 4. All her money is squandered by Monika.
Question Type : MCQ
Question ID : 630680311672
Option 11D : 6306801212773
Option 2 ID : 6306801212775
Option 3 ID : 6306801212774
Option 4 D : 6306801212776
Status : Answered
Chosen Option : 2
Marks : 2
Q21 gelect the most appropriate option for the given blank.
It was pouring that day, ?
Ans 1. wasn’t it
X2 jsit
A 3. hadn’t it
X 4 did it
Question Type : MCQ
Question ID : 630680311667
Option 11D : 6306801212755
Option 2 ID : 6306801212756
Option 31D : 6306801212753
Option 4 ID : 6306801212754
Status : Answered
Chosen Option: 1
Marks : 2




Q22 gelect the most appropriate option for the given blank.

He applied to various universities including Stanford.
Ans X1 the
«" 2. No article
X3 a
X 4. an
Question Type : MCQ
Question ID : 630680311679
Option 1 ID : 6306801212804
Option 2 1D : 6306801212801
Option 31D : 6306801212802
Option 4 1D : 6306801212803
Status : Answered
Chosen Option: 1
Marks : 0
Q23 gelect the sentence with no spelling error.
Ans X 1. I never experienced these feelings of self-misturst.
«" 2. I never experienced these feelings of self-mistrust.
X 3. I never experienced these felings of self-mistrust.
X 4. I never expereinced these feelings of self-mistrust.
Question Type : MCQ
Question ID : 630680311681
Option 11D : 6306801212811
Option 2 ID : 6306801212812
Option 3 ID : 6306801212810
Option 4 D : 6306801212809
Status : Answered
Chosen Option : 2
Marks : 2




Q.24 select the most appropriate option for the given blank.

It is now important to note that Peter's influence over those millions of people
Ans X 1. would not been
< 2. had not
# 3. hasn’t been

& 4. had not been

a shallow venture.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680311671
6306801212772
6306801212769
6306801212770
6306801212771
Answered

3

2

Q.25 select the option that uses the correct punctuation marks for the given sentence.

My to fade gradually.
Ans . # 1. troubles, though. began

X 2. troubles though began,
X 3. troubles though, began
X 4. troubles, though began

Question Type :
Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

MCQ
630680311665
6306801212745
6306801212748
6306801212746
6306801212747
Answered

4

0

Section : General Knowledge
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Ans 711960
X 21972
< 3.1948
< 41954

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680312469
6306801215759
6306801215760
6306801215757
6306801215758
Answered

2

0
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Ans 1. TS

]
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680312460
6306801215723
6306801215724
6306801215721
6306801215722
Answered

4

2
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Question Type : MCQ
Question ID : 630680312464
Option 1 ID : 6306801215740
Option 2 1D : 6306801215739
Option 31D : 6306801215738
Option 4 1D : 6306801215737
Status : Answered
Chosen Option: 3
Marks : 0
0-4 - -
m, w Mg ARLHI {“.I\rlt-lnll g{"lld Jirﬂ“ EILGIF
Ans X 1. 1868
< 21860
w3 1862
< 41865

Question Type : MCQ
Question ID : 630680312466
Option 11D : 6306801215748
Option 2 ID : 6306801215745
Option 31D : 6306801215746
Option 4 1D : 6306801215747
Status : Answered
Chosen Option : 2
Marks : 0
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Ans
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Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680312481
6306801215808
6306801215805
6306801215806
6306801215807
Answered

4

2
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Ans
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X 3. giAd AfF
X4 foremg arérer

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680312482
6306801215809
6306801215811
6306801215812
6306801215810
Answered

2

2
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Ans x1.1972
X2 1974
X3 1982
w4 1984
Question Type : MCQ
Question ID : 630680312483
Option 11D : 6306801215813
Option 2 ID : 6306801215814
Option 31D : 6306801215815
Option 4 1D : 6306801215816
Status : Answered
Chosen Option: 2
Marks : 0
Q.8 The energy required for various chemical activities needed for life is released by in the form of ATP.
Ans 1. Mitochondria
X 2. Lysosomes
X 3. Ribosome
X 4. Nucleous
Question Type : MCQ
Question ID : 630680312478
Option 11D : 6306801215795
Option 2 ID : 6306801215793
Option 31D : 6306801215794
Option 4 1D : 6306801215796
Status : Answered
Chosen Option: 1
Marks : 2
Q.9 2011 = SURTURTER, 2001-2011 =27 2R dig e FHEER=aT Feasiear e &t
Eh.
Ans X1 5.4 Tan
2 6.1 SFh
X3 74 cFF
X4 81 TFFh
Question Type : MCQ
Question ID : 630680312472
Option 11D : 6306801215769
Option 2 ID : 6306801215770
Option 31D : 6306801215771
Option 4 ID : 6306801215772
Status : Answered
Chosen Option : 2
Marks : 2




Q.10 wHrafr T Teasha ATRvAT=aT Hea GreerdST HURE U 9T AHEa?
. o O Woar=ar 35 Sodr AU gem=ar 238 yAdE 9y AR

Il sArede 2022 A T AfRSATEY 17 3 TS SN RV AR U AT AT

A K e |
2| 3T || g
X3 Fas
X 4| fFar || Oy wRgr ey
Question Type : MCQ
Question ID : 630680312462
Option 1 ID : 6306801215729
Option 2 ID : 6306801215731
Option 3 ID : 6306801215730
Option 4 ID : 6306801215732
Status : Answered
Chosen Option : 2
Marks : 2
Q11 grRiedHr FvRE B/ FE ARea?
I. o= (fauna) & w1 faftee gier Rk i Fode TaETd=T SUTvaTaTer aTREr A
II. ETT GAN 47000 FAET TS M.
Ans
X 1| 30T 11 @y
2 Fas |l
X3 | fZrar || Fr waRgr AT
X4 Fas |
Question Type : MCQ
Question ID : 630680312471
Option 1 ID : 6306801215767
Option 2 ID : 6306801215766
Option 31D : 6306801215768
Option 4 ID : 6306801215765
Status : Answered
Chosen Option: 1
Marks : 0




Q12 2011 =u FURTUHGER, GreleRHr R/ R/ s HR/HR?

Ans

. 3o 9 § ARG Al dhEss U= 2.

I. T § AEETT HaTd FHT AREEIT =T 8.
X1 ] fRar Il 3 TRl A

X 2| 30T |l gregrer

3 $Ix |

A=

Question Type :
Question ID :
Option 11D :

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

McQ
630680312473
6306801215776
6306801215775
6306801215773
6306801215774
Answered

2

0

Q.13

Ans

X 1. HTCHTIH gET
X2 Aged Mg T3
X 3. TS FEUT TGl
" 4. 0T [TETHT

T JIHAT 9T WHETE =T FATAT el grar.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680312480
6306801215804
6306801215802
6306801215803
6306801215801
Answered

4

2




QM garear FveaT AFEEER 7% e & AT TEtae g e
A X Fhren Rera 0T sEdSEaT HIEE
X 2. fRrefor FHIET

o3 NEIUEATF SFa9gT HITH

X 4 wigam 31oT 9o Aew FIeT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680312463
6306801215733
6306801215734
6306801215735
6306801215736
Answered

4

0

Q15 ofywe=ar TFRUERE RATT=AT §9E FAAE OIS FEUE HEE=AT Hoad TR Ja
T ol Felt?
I W aw
Il #Aders #gw

e K e I
2 | 3fOT 1| ST
X3 | fFar |l 35 TeRgr AT
X4 hae |

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680312467
6306801215750
6306801215751
6306801215752
6306801215749
Answered

2

2




Q.16 3fyar wee 3% Fiwe FoE 2021 FAR, SREHE IA8F § GaeaT HiEE AAE I A
Ans X 1.30.07

W2 2462

<3.10.08

X 4503

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680312470
6306801215764
6306801215763
6306801215762
6306801215761
Answered

1

0

7 gy & T 2o ST SARATSST FIUTEIT TSI HE?
Ans f‘]m

X 2. gimamom

X3 e

X4.313|T|T-|'

Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Marks :

MCQ
630680312461
6306801215727
6306801215726
6306801215728
6306801215725

1
2




Q18 9T ToTEeSIT AT WY WIS RO A0S Seeiad ARI?
Ans 1.
X 2. 3T TSI T f&ar TaTTaT FIOT

< 3.

X 4 FERTSOTE AT 10T 9&9r

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680312475
6306801215784
6306801215782
6306801215783
6306801215781
Answered

1

2

Q19 syarer Aty s FOMEr e g, BT SeF 26 SSEET 1950 A= AT aaT, Tor
= Sfgear REwrt s e

Ans X1 ST 1983
X 2 et 1985

3 St 1987
X 4. ST 1985

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680312476
6306801215785
6306801215788
6306801215787
6306801215786
Answered

3

2




Q20 ydirr TeTTEAe WeleHT SV Heqevald HEsld Hed TATESE HRA?

Ans
X 1. 3g=e 50
X 2. =S 45A
v 5 He=oa 51A
X 4. 3eTeG 51
Question Type : MCQ
Question ID : 630680312474
Option 11D : 6306801215778
Option 2 ID : 6306801215777
Option 3 1D : 6306801215780
Option 4 ID : 6306801215779
Status : Answered
Chosen Option: 3
Marks : 2
Q.21
T A GATATET TUTIAT HTeT gial.
Ans  x1.1883
«2 1864
x 31867
X 41897
Question Type : MCQ
Question ID : 630680312465
Option 11D : 6306801215743
Option 2 ID : 6306801215741
Option 3 ID : 6306801215742
Option 4 ID : 6306801215744
Status : Answered
Chosen Option: 3
Marks : 0




Q.22

Which of the following statement is correct?
I. Prokaryotic cell contain single chromosome.

II. Eukarvotic cell contain more than one chromosome.

Ans X 1. Only T
+ 2 BothIandII
X 3. Neither I nor II
X 4 OnlyII
Question Type : MCQ
Question ID : 630680312479
Option 11D : 6306801215797
Option 2 ID : 6306801215799
Option 3 ID : 6306801215800
Option 4 ID : 6306801215798
Status : Answered
Chosen Option: 2
Marks : 2
Q23 s fedaat=ar STaca Qe PO/ A/ 3EE HR/ERS?
. @ 1813 & 1823 STFATA AT Tegelk A aral.
Il. SO HREerer YROT 9¢ g9 (Doctrine of Lapse) FUA @@ S5 o9
A FEe |
X2 | famar || §Fr wagr A
X 3. | 30T || ST
X4 Fae
Question Type : MCQ
Question ID : 630680312468
Option 11D : 6306801215753
Option 2 ID : 6306801215756
Option 3 ID : 6306801215755
Option 4 1D : 6306801215754
Status : Answered
Chosen Option: 3
Marks : 0




Q24 Frofreriiehr U/ R/ e IR/RA?
|. AErem BENEFHE (Mozilla Firefox) &1 T 3Ua HIY FIFsT HTE.

Il. AT FEIEFE (Mozilla Firefox) AIGd SIS &ell S5 AFd AR

Ans

W FaE |
X 2 | 37O Il SrEr

X 3. | fFar || ¥Fr Tegr ST
X4 Faes

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Marks :

Status

MCQ
630680312484
6306801215817
6306801215819
6306801215820
6306801215818

1
2

Q.25 Which of the following organism does NOT belong to Protista kingdom of living organism?

Ans X 1. Diatoms

«" 2. Blue-green algae
X 3. Golden algae

X 4. Protozoan

Question Type :
Question ID :
Option 11D :

: 6306801215792

Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

Option 2 ID

MCQ
630680312477
6306801215790

6306801215789
6306801215791
Answered

3

0

Section : General Intelligence




W g geaTE, Reewr wiuige defta s e

MZ - IV 2 ?
Ans X 1.RE : EU
X2 NA : AN
X3 8F : UV
«+4 YL : UH
Question Type : MCQ
Question ID : 630680312911
Option 11D : 6306801217524
Option 2 ID : 6306801217522
Option 31D : 6306801217521
Option 4 1D : 6306801217523
Status : Answered
Chosen Option : 4
Marks : 2
Q.2 grle 9eArE, I 3eR-sAsar Roear HR4.
() = SRS e & (-) = SeER sl FE o PeAEEy aaeR wafe sRa. e
TFo/fermmiTaa=ar HY A HER-SE TR He. T THias e F swon s e
Ans X1 MH - NS
X2 PK - KP
+3 YU - AE
X4 UP - FK
Question Type : MCQ
Question ID : 630680312913
Option 11D : 6306801217529
Option 2 1D : 6306801217531
Option 31D : 6306801217530
Option 4 ID : 6306801217532
Status : Answered
Chosen Option: 3
Marks : 2




Q3 greirer weaTa, fEeeTT MfeRg TeATg=aT AT JoTE TEI

730, 714, 734, 2, 738, 706

Ans X1 705
<2700
<3708
&4 710
Question Type : MCQ
Question ID : 630680312916
Option 11D : 6306801217542
Option 2 ID : 6306801217541
Option 31D : 6306801217543
Option 4 1D : 6306801217544
Status : Answered
Chosen Option: 4
Marks : 2
Q.4 grefr e sy anfor Reelelr saeredt o @ara oo sl fd ey s sat=ar SR Fot s
Forer Reg I A
¥*B@+-@A#N@O+PQRSH@+H# @ *
Ans > 1. 8
2 5
X3 7
X4 6
Question Type : MCQ
Question ID : 630680312910
Option 11D : 6306801217518
Option 2 ID : 6306801217519
Option 31D : 6306801217517
Option 4 ID : 6306801217520
Status : Answered
Chosen Option: 2
Marks : 2




Q5 e Ig TEE IR Ue Afe fGe Y. Reredr wHEigs o Ao T SO s 9o e

NRTS, QUUV, PXVY, QAWB, ?

Ans X 1. RMNO
< 2. REAS
« 3 RDXE
< 4 DMRQ
Question Type : MCQ
Question ID : 630680312908
Option 11D : 6306801217512
Option 2 ID : 6306801217510
Option 31D : 6306801217511
Option 4 ID : 6306801217509
Status : Answered
Chosen Option: 3
Marks : 2
Q.6 T weATT, TN FET-FEA BIE Am.
(-) =T SRS AT @7 () T SRS A FE A/ AT AR HE e HEd. o
TR/ THFTU=AT HTE & Ha-=A1SaT THHAE Fed. Eeear Taige 7erd o SEoT w3 e
Ans X1 VDBK - TBYH
<2 FNLU - DLIR
X3 LTRA - JROX
4 YDMK - WBKG
Question Type : MCQ
Question ID : 630680312914
Option 1 ID : 6306801217535
Option 2 ID : 6306801217536
Option 3 ID : 6306801217534
Option 4 ID : 6306801217533
Status : Answered
Chosen Option: 4
Marks : 2




Q7 e Ig TEe IR T Afe e Y. Reedr wHEigs o Ao T S0 sE 9o e

MHDM, FCUB, YXLQ, RSCF, ?

Ans X 1. KOPQ
< 2. KNOP
w3 KNTU
X4 KTOQ
Question Type : MCQ
Question ID : 630680312909
Option 11D : 6306801217514
Option 2 ID : 6306801217516
Option 31D : 6306801217515
Option 4 ID : 6306801217513
Status : Answered
Chosen Option: 3
Marks : 2
Q8 Freirer e, feeream oA WA= AT JUTE TEAT HEE
5+4-6+3x1=19
Ans X x anfor -
&7 x 3o +
X3+ zfor -
X4 + 3fOT
Question Type : MCQ
Question ID : 630680312917
Option 11D : 6306801217547
Option 2 ID : 6306801217545
Option 3 ID : 6306801217548
Option 4 ID : 6306801217546
Status : Answered
Chosen Option: 2
Marks : 2




Q9 wF Ig TEE IR T Afer e Y. Reredr v o Ao U7 SO 3 9T e
PQRS, ONQP, NKPM, MHOJ, ?

Ans X1 LMQR
X2 LQRS
<3 LMNO
4 LENG

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option
Marks

Question Type :
Question ID :

MCQ
630680312907

: 6306801217505
: 6306801217507
: 6306801217508
: 6306801217506
: Answered

14

12

Q0 e woaTT, RoewT FfEFT TeaS=g=TT ST AU T S

110, 114, 122, 138, 170, ?
Ans  x1. 230

<2 260

W3 234

x4 280

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :

Chosen Option
Marks

Question Type :
Question ID :

MCQ
630680312915

: 6306801217537
: 6306801217539
: 6306801217538
: 6306801217540

Answered

03
12




W greirer weaTd, RRreaT THiGE HeT sER-SEr e

Ans

NA : SF 2 7?
X1 XY : ZZ
X2 SF : OO0
3 0B : TG
x4 XK TG

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
Chosen Option :
Marks :

McQ
630680312912
6306801217526
6306801217525
6306801217528
6306801217527
Answered

4

0

Q12 grfter oot e fremer snfor cor fumsey smutfia o freed e smia. o8 R R oo
AT Tl TR aed el aiEn, fF @oU 3R 3 TEE N Reer 7 Feew amr anfor saeeR

Ans

fEoreaier sy o oo Rl aeweT 3T, F ST
Frum:

|. ST Zrea E R

Il 75 R o sma.

s

| T BT Sy AR,

II. T 2er Sy AT,

. 7 o7 foed amea.

X 1. Fae TFeEy || FHhEEa e
X2 | ifor || & aer ey aoaea AT
V'3 g SRS IR AT
X4 || 3707 |1l ¥ Sy TSRy geEed e

Question Type :
Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status :
Chosen Option :
Marks

MCQ

: 630680312906

: 6306801217501
: 6306801217502
: 6306801217503
: 6306801217504

Answered
1

:0




Q.13 e weaT T a3 o Rumet amuRE w1 fred B9 wma. 3 5 Ry oeens
e Tl e aea srmer Al O T AT 3 N . R o ey amr e aEew

KN 3T I SR oY geaed smed
X2 | 0T Il ¥ Seer oy gegea 3ed
X3 gF T aFoera s
4 TR oy FeEea ATer

R Soare e e Ruremh T 3T, & 3

Fruma:

|. TET T e e,
Il. 75 =7 e 3mea.
forsg:

I 7 s 397 3ma.
Il §% omesr 937 3.
. o= ener e 3mea.

Question Type : MCQ
Question ID : 630680312905
Option 11D : 6306801217500
Option 2 ID : 6306801217499
Option 31D : 6306801217497
Option 4 1D : 6306801217498
Status : Answered
Chosen Option : 4
Marks : 2

Q.14

Ans

3 21 7

X1 46
w2 98
X3 112
X4 128

L 2) 22 e

Question Type : MCQ
Question ID : 630680312766
Option 11D : 6306801216945
Option 2 ID : 6306801216946
Option 3 1D : 6306801216947
Option 4 1D : 6306801216948
Status : Answered
Chosen Option : 2
Marks : 2




Q15 v F\ T T 36 W [T FF ehdr AU ST FA T &7 Thed, Tl aeTeream
FTATEUIET T FAEdd U7 F® . TOT AT U [Hee TguT e 1/4 s qur
Frograrsr frdr feew s

Ans X15m
w2 3 feag
X3 35 f&ag
X4 25 feag

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680312776
6306801216988
6306801216986
6306801216987
6306801216985
Answered

2

2

Q.16 3. 7000 =t TFFH TFATT UTSTAT (WSTHTET TR F%eT) aMMEF 20 THF 0| FaAT5 faar =2, 18
AfgTAT Tewate =T Tt 3

Ans X1 % 2800
X2 % 2780
w3 T 2317
X4 T 2480

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Question Type :
: 630680312773
: 6306801216975
: 6306801216976
: 6306801216974
: 6306801216973
Status :
Chosen Option :
Marks :

MCQ

Answered
4
0




Q.17 Jcr v T 136 o STer A1, A8l 36 AT 38, =X < e 17 F #WTe, a7 St aehr

37
Ans o> 1. 3
221
3 2
xa7
Question Type : MCQ
Question ID : 630680312768
Option 11D : 6306801216956
Option 2 ID : 6306801216955
Option 3 ID : 6306801216954
Option 4 ID : 6306801216953
Status : Answered
Chosen Option: 1
Marks : 0
Q.18 3. 120 = 100 afFEe freamge ver fee Reeare 40 e der giar. 20 2o @ feavarardT,
= Tt afemer €. 180 o famrear Tifgaia?
Ans > 1. 20
2 75
<3 60
x4 88
Question Type : MCQ
Question ID : 630680312770
Option 11D : 6306801216962
Option 2 1D : 6306801216963
Option 31D : 6306801216961
Option 4 ID : 6306801216964
Status : Answered
Chosen Option : 2
Marks : 2




Q.19 7= &= wonEr TuREE WiE FA O 9RRed TeREr aweEs T 480 WiT 8 kg AT S0 WiEr e,

Ans

X120 TFF AT

2 2353 TFF AR

X3 2727 TFF AFT
X 4125 TFF AFT

gE=T ST T, 520 Wi 13 kg I U TIE Fel, fowar S T 280 iy 4 kg AT g WA
e, o= TOEr TR W= THT Shell AMOT w0 5. 70 9 kg O & el SR A=

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680312771
6306801216965
6306801216968
6306801216967
6306801216966
Answered

2

2

Q20 3 5500 = TEFFH TIGST=AT T 5 ToFF e fhdT Framaelad % 6600 BEa?

Ans

Vo4 g
K25 g¥
X3 2 g%
a3y

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680312772
6306801216971
6306801216972
6306801216969
6306801216970
Answered

1

2




Q.21 ue yeemEr 50 kmihr F9TRT AT MR, 625 HelE ot I FIUUTEET foelm fhdr e derdrer?
Ans X9 36

2 45
X3 54
X 4. 30
Question Type : MCQ
Question ID : 630680312774
Option 11D : 6306801216978
Option 2 ID : 6306801216980
Option 31D : 6306801216979
Option 4 ID : 6306801216977
Status : Answered
Chosen Option : 2
Marks : 2
Q.22 13 Porg FEETAT TH WU WO 37 30 T HE. SR A I IO FAEE Fe, W
TED 77 1.8 a6t Sed. a7 gt 3 B e
Ans
x1.59.8 =¥
2 552 ¥
X3 572 o
X4 56 I
Question Type : MCQ
Question ID : 630680312769
Option 11D : 6306801216959
Option 2 ID : 6306801216958
Option 31D : 6306801216960
Option 4 1D : 6306801216957
Status : Answered
Chosen Option : 2
Marks : 2




Q.23 v gEw J O T a1 @ e g 120 A it 144 Bfeee sw wwae. o8 Z & e
A gT Fer, 7€ 7S fedr dear e war e 240 fAfAE s A, S eRbe e A

Z gant e groarw fdr 3@ et

Ans -
<1110 @AfEe
<2 g5 fafEe
x3120 AR
W4 90 fAfee
Question Type : MCQ
Question ID : 630680312777
Option 11D : 6306801216989
Option 2 ID : 6306801216991
Option 3 ID : 6306801216992
Option 4 ID : 6306801216990
Status : Answered
Chosen Option: 3
Marks : 0
Q.24 v =zt L km = AT 12 STEIT UW FF 0T, @ ST 39T 10 mis & arefaar st Rad ey 8
AT T FIET. WA oy R/ 3w A/aa?
l. L T 760 km 37
II. == Jgs 397 72 km/hr 3.
Ans
1 Fas |
X2 Fae |
X 3| f&rar || Fr wagr AT
X 4| 3mfor Il Sear
Question Type : MCQ
Question ID : 630680312775
Option 11D : 6306801216982
Option 2 ID : 6306801216981
Option 31D : 6306801216984
Option 4 1D : 6306801216983
Status : Answered
Chosen Option : 4
Marks : 0




% 16 x 1.6 + 1.5 x 1.5 - 4.8 I TeT HIT HE?

Ans X1.9.02
+ 2 .01
<3 3.1
< 4.1.09

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680312767
6306801216951
6306801216949
6306801216950
6306801216952
Answered

2

2




